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M — 10 + 22 = .+ (22-10) = + 12 — 45 + 5 = — [15-5) = — 10
2. Mlkiplicakion ek division.
. ﬂwmkquW&M@mew.

. ﬁWNLWMQW\QMAmWWMW.

8 : + + =+ — + =z — _—14—+ +—16—_
Eaamplec (<2 (+7) = A4 (=3)x (4] = =12 — =28 — =

A =9 - (10 — 3 B-7_-1(8—-1(=10) C-(7+1) -2 -5
EEEMQEQ; A-=9_7 B-7_-1(+ 10 -8 _ (=3
A =2 B-7_18 €-8.3
B - 1 € -
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€ -4 x (M0 — & x 6)

D-1 —6x2 & - 3x5 4+ 7x4
S € - 4 x (10 = 24)
M; D= - 12 & = 15 + 28 8—4><(—44)
D=2 & - 43 - B

€ - _s6

22 ATTENTION 22 On me diovise jamais pan giro |



M@m J“mﬂﬁ WMMMWMMWMWHM

| 3 _ 3x2 6 24 24+6 4 24 6x4 4
&ﬂﬂé' 5 5x2 10 18 186 3 18 6x3 3

2. Addikion ok sowsktrockion.

?MGMMVWNMWWM,&W&’MQMWM%MW!W
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4.2 442 6 5 8 5-8 -3
T T 7 7 2 2 2 2
Coomplee 2,83_2x5 3x7 10 2110421 _3l
7 5 7Tx5 H5xT7 35 35 35 35

WWWWMMMRK,QMMMWMM 3 8 3x8 24
5.2_ o5 7T_5x7_35
MWWMW&WMM 67_6 2 6 x 2 12
inerse, 2.4.2.9_2 1_2x1_2
777 771 779 7x9 63

b, Frackion dume quamkiks.
?mw%w%d'mw,mw%wmmw‘

3 3
M;Zdﬁsee:Zx36€:3x(36+4)€:3x9€:276

3 21
- C= =5x21(=1
: 35001\.3X35 5 x 21(= 105)
T 16



